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The figures in the margin indicate
" full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following Aquestions ; 1x8=8
woTq 2ATRS el A ¢
(@@ Who proposed the ‘ conecept  of
‘Geographical Cycle’?
COTANERE S ATl (PIG SHSRGI31%e 2

(b) Growth of nature-centric geography laid
the foundation of

(i) anthropological geography
(ii) geomorphology

(i) physical geography

iv) environmental geography

Contd.




oFo-(FH T Brolem Riest (o6 <l (e) The popular name of Southern Ocean is

(i) Tl wralem (i) Indian Ocean
() TS R ) (i) Arctic Ocean
(i) T BroleT | (i) Antarctic Ocean
(iv) AR Sroie=  (iv) Atlantic Ocean
(¢) Which one of the following is notla ' WWW S AT (20
branch of Physical Geography ? ‘ () OIS TP
() Climatology Ll
(i1) Geomorphology (1) W RPN ,
(iv) SICENES TR

(iii) Soil Geography _
(f1 The term ‘Ecology’ comes from the two

~ (iv) Applied Geography o e
reek words

©ETO CTRY II (BIACS] M4l eE weoier

(i) oikos and logos

RIKIETEE -
() ey fan i
- : iii) oikos an .
@) eoghe Rew :j s 5 fgy
_ iv) okios and logus
(iii) & gl ' . iR R 0ol 1Ol S X9 o9 iR
(iv) AT Srote - | Y -
o : (i) oikos U logos
(d) Who proposed the theory of (ii) okios ¥ logos
Uniformitarianism ? ‘ (iti) oikos % logy
. "'ﬁﬁﬁ“’i@r OGOl (I RBIB e ? ‘ (iv) okios WI¥ logus
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(9)

The trade wind is a type of
(i) planetary wind

(ii) seasonal wind

(i) sub-polar wind

(iv) polar wind

ey Tz ¢F FoF

()

() e e

(i) ¥gEe oI

(i) T (NECEE TOIT
(iv) GROMIN T9/7

Out of the total incoming solar

radiation, the reflected back radiation
from the atmosphere and the earth’s
surface is

() 25%

(i) 45%

(i) 55%

(iv) 35%

+f3FisT o) o O RiFaeis foess, agwes
i BoRE o[l afowlre (Rl [ivadm s
[£167

() 25%

@) 45%

(i) 55%

(iv) 35%
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2. Answer any six questions from the following :
2x6=12
ol SRS Sl Riepiral =Fr e Ted Wl 8
{(a) What do you mean by the term ‘land-
form’?
R W & e e
(b) Give a definition of physical geography.
Aighos wrater™ Gt gesl [ |
(c) What is insolation ?
- cTR o e
(d] Name any two warm ocean currents.
Rtz 70! &% AR @Efed = o4 |
{e) What is peneplain ?
LTS B (e 2
() Give two examples of precipitation.
SRR O] Swigad Wl |
(g) What do you mean by the term
‘Environment’ ?
s IFTE 1 ol
(h) Define biodiversity.
- teRhaE ke |
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(i)

0)

Why does wind blow ?
Tz 7 I

Cite examples of any two cold ocean
currents. '

75! Arest Ao Gires Sz frai |

Answer any four questions from the following :

5x4=20

T IR SR Rl ST e Tes ol 8

(a) Trace the growth of nature-centric

(b)

(c)

(d)

geography.
. ST GralieT i wiffoef et 41 -
Explain the relation between

temperature and pressure.
TGl O A B AT AFH I+ |

Write a note on the importance of study
of Biogeography.

GR-GTANET SEe g A0S A (it forai |

What is catastrophism ? State how the
catastrophic events bring about
changes on the surface of the earth.

: : 1+4=5
ST 5 7 eI FARAOAIR PR (A
AR A FE IR KA I 40|
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; current
(e) How do ocegn c

s originate ?

oo Girs GG S T T

m Discuss

about the interdisciplinary

nature of physical geography. /
-ﬁﬁﬁ?@%ﬂﬂﬂﬁéﬁﬂﬁﬁmﬁﬁﬁﬁVF*W$€MﬁWm
=4 |

(@)

(b)
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the heat budget of the earth

(9) Explain :
with a neat diagram.
s foa i ﬁ?@a@m@aﬂﬂnwn
(h) Whaf is biosphere ? State its
characteristics.
@WﬁNﬁﬁﬁ$?3ﬂﬁfﬁﬁ¢%ﬂ{§ﬁK@ﬂ‘ﬁﬂl
7‘ i the following:
4. Answer any two questions from el
wor 2Ed A ﬁkanwrﬁﬁzmﬁf@@aﬁhno

Discuss the meaning and scope of

hysical geography. : _
Zﬁgﬁﬁigmmaﬁraﬂﬁwmsﬁﬁﬂ%ﬁﬂ@ﬂ&ﬂ?ﬁﬁl
Explain how 1anderr.ns o.riginate
according to- W.- M. Davis.

WM. Davisy ® $oR @ e =

5y S
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(c) Describe the pressure belts and wind
systems on the earth with suitable

diagrams. 5+5=10
#{faSTe AT Hi7l T A oL ET o A
39 4 |

(d) Discuss the scope and significance of
oceanographic studies. 5+5=10
g e SR AR O lkeR A
SCEAD B |

fe) Discuss the elements and functions of
, ecosystem with examples. 4+6=10

Zlsl AHACE SCETb
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